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Instructions : All questions are compulsory.
(il) ¥ HEE 1Y 20 TF F YAF WA W 1 37 fuifa & (3w 1t sforpan
Vs-T 20 IR R |

In Question Nos. 1 to 20, each question carries 1 mark. Maximum

word-limit of answer is 20 words.
(i) T FHH 21 ¥ 23 T & TAF T W 2 3F Fruifa & 1 3w = srfermen

-H 309K B |
In Question Nos. 21 to 23, each question carries 2 marks. Maximum

word-limit of answer is 30 words.

(iv) ¥ HUH 24 | 27 7% F TA% ¥4 W 4 3 Fruffa § | ot sifswan

Ve 75 v B |
In Question Nos. 24 to 27, each question carries 4 marks. Maximum

word-limit of answer is 75 words.
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7 % WOAw W 95 st tvatfra B0 e A) sfyqneg

forerd] e v e A sifra B
stion carries S marks. Maximuin

(v) WY wEi 28 @ 31
wiez i 150 vz &,

In Question Nos. 28 to 31, each que
word-limit of answer is / §0 words, in which one guestion 1s based on

Map and Picture.
WA FAE 32 0 34 x% ¥ TEE WA W o 3w fpifia ¥ ane &) stvaa

wez-dra 200 TR ¥
In Question Nos. 32 to 34, each question carrics 6 marks. Maximum

(vi)

word-limit of answer is 200 words.
(vii) mmza#uﬁwﬂuﬁfﬁmmmw!r

Question Nos. 28 to 34 have intcmal options.

sifverg It we-1 1x20-20}

Very short answer type questions-1

ywr-1 ¥ g% Qoia: %@ gure 5 o 2 (1
What marks the complete end of Cold War?

gva-2 ¢ SRR smen wn € ? (1]
What is new international system?

w¥i-3 Afrga Torifa soneh e frarura w snuf@ o 2 (1]
The Soviet political system was based on which ideology”

a4 i w e wa A (1)
When was the Berlin Wall destroyed?

wa-s ‘At e ant? 0!
What is Operation Desert Storm?

gyA-6  foden qugial &4 gan ? (1]
When was the Shimla Agreement signed?

UA-7 AR (TWR) F AR w8 2 (]
Where 1s the headquarters of SAARC?

I

NM-36C+



¥ -10

-1

=12

U9v1-13

u¥I- 14

gvT1-15

v1-16

wa-17

uy3-18

forege w9 fafau—a § ge.an, |

Write the full form of TELO.

[31]

PR TRt - e % e gam?

Farakka Agreement was signed between which countries?

YH T WY 1 Jommers vl forg & 2
Where is the headquarters of the UNO?

mﬁﬁﬁwwaﬁmmﬁm’rt?

At present, what is the number of member countries in the UNO?

TateRY fea| wa wava s €2

When is Environment Day celebrated?

MTHT & 3R W $17-T1 799 qdgyy nfsa frgr mar o1 ?
Which was the First State formed on the basis of language?

YR § foFT TR #1 rdfsqaea € ?

What type of economy is followed in India?

WYY NG QA F AI9AER B 4 ?
Who drafted the First Five-Year Plan?

Y. TS T B o FA

g

When did Pt. Jawaharlal Nehru die?

v gagial e e & & gan?

Tashkent Agreement was signed between which countries?

1971 3§ =g aremdw’ @’
What was the ‘Grand Alliance’ in 19717

(n

m

(1]

(1]

(1]

(1

(1]

(1]

(1]

(1]

(1]



[4]
(1)

AN ’ e I dia Government?
When was the Women Empowerment Policy formed by Indi

wWy-20 ‘zfera e s’ e Uw | WY 3T 7

. . - < 0
‘Dalit Panther Movement' started in which State:

(1]

Afaey Iwia ww-11 [2x3=6]

Very short answer type questions-II

wvT-21 e o 1 2 v fafau [1+1=2]
Wnite two conditions of Shimla Agreement.

W¥H-22 &R WS & ¥ ? fafau [2]
What is Kyoto Protocol? Write.

we3-23  ‘fiet o6’ w2 wumw (2]
What is ‘Privy Purse’? Explain.

[4x4=16])

g Iwig vy
Short answer type questions
Te- PRy e F fadward (vaferd) we FC (B w0 1 [1+1+1+1=4]

Describe the specialities of Non-Alignment Movement (any four).

w¥1-24

qifgga T9 & faued & WX Tp@ HRO & I Fifag | [1+1+1+1=4]

Discuss the four main causes of the dissolution of the Soviet Union.

W¥1-25

wvt-26 i@ Fifa F S scs 3 Q TR i 1 Ieera wifwg [2+2=4]
Describe two positive and two negative results of the Green Revolution.

WA-27 A AIRIER MRt s Y ggg S € SEeE [4]

“Popular Movements play an important role in strengthening the

Indian democracy ” Explain,

NM-36C+



(5]
& Tertta wy
- [5x4=20]

Long answer type questions

W-28 A F1 F e &2 qeandh & sfiwni % fog ded @ A

What is meant by ‘Native’? Describe the struggles for rights of the
native (any four).
aar
OR
vty 1 e farfian ) vatao # g & vd yar 1 auf Fifae
(FIE &) |
Write the meaning of Environment. Describe the steps taken by India
for the protection of the environment (any four).
-29 RG-SR Hase & i Y@ e R ¥EW e [141+1+1+1=5]
Throw light on five main points of dispute between India and America.
e
OR
FrarTa anfde &3 4 sift T = e fagall § T Hifag
Explain in five points the absolute power enjoyed by America in the
structural economic Sector:
P.T.O.

e —



(6]
yA-30 S U fra Taeli # 9 1969 § 32 i R gE ? 5]

. o De . g9
What were the reasons behind the division of Congress Party n 1969

3rear
OR

1967 & M I & a5 % fiadHl Y sarE S |
Describe the changes after the General Election of 1967.

UvA-31  YRA & wAfeR § 2 fod famdl % o fafea #if [1+1+1+14]1=5]
(e7) g (@) =forg
() g (7) venferm
(3) FwR

In the map of India, mark the princely States as mentioned below :
(a) Junagarh (b) Manipur

(c) Mysore - (d) Gwalior

(e) Kashmir

srerar
OR

WA & wrfas ¥ Frafafaa vt # gy

(3 TerTa (7) +@

(7) g (9) farr

(%) fvem s

In the map of India, mark the following States :

(a) Gujarat () Kerala

(¢) Orissa (d) Bihar

(e) West Bengal

NM-36C+ -



17)
[6x3=18)

ufard Ieréra yoa

Very long answer type questions

uv1-32

Uy1-33

I 1 fazw fifa a1 w: fadramsii @ secr@ Hfw) (1414141 41+1=6)

Descri .y
escribe six specialities of India’s Foreign Policy.

rear
OR

YRA R T2-FrAs (smienar) Ft A e & B SR F IS

Fifag |

Describe six reasons for the adoption of Non-Alignment Policy by
India.
TEEYT TER & oM Td il &1 v i [3+3=6)

Explain the advantages and disadvantages of a Coalition Government.
Hgar
- OR
TEEt TR W Y@ aaw fafay T ey | el § A
< % ftr & gt & e @ A
Write the three major characteristics of a Coalition Government and

explain the three reasons for the rising importance of regional parties

in coalition politics.



[8]
wy-34 ﬂwwﬁaﬁwmmﬁm‘fwaﬂ#aﬂﬁm [1+1+1+1+1+1=6]
Describe any six achicvements of the UNO.

T

OR
g T | F {6 O fawerareil &1 aofs i)
Describe any six failures of the UNO.
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